Exercises Week 3
To be submitted Monday January 29 at 10h00.

Question 1:
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Question 2: 
In this exercise, you can simply ignore the comment about productivity.  Note that you must find the ratio of steady-state per-capita outputs.  The answer to question 5 of Chapter 15 from last week should help you answer this question.  
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Question 3:
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NB Figure 3.4 here is the same as Figure 15-2 in Blanchard & Johnson.

Question 4:
NB Ignore the comment about the value of A.
[image: image4.emf]
Question 5:

For each of the following scenarios, use the graphical depiction of the Malthusian model to illustrate what happens to a country’s population size and per-capita income in the short-run and in the long-run.
a) Scientists discover a new strain of wheat that can produce twice as much grain per acre.

b) A war kills half of the population.

c) A volcanic eruption kills half the people and destroys half the land.
